## 5.7: Intgration with inverse trig Completing the square

$$\begin{array}{c} \chi^{2} - 12x + 7 \\ \chi^{2} - 12x + 36 + 7 - 36 \\ \frac{124}{2} \\ (x-6) - 29 \end{array}$$

1.) 
$$\frac{dx}{\chi^{2}-2x+11} = \begin{cases} \frac{dx}{(x-1)^{2}+10} \\ \frac{x^{2}-2x+1}{(x-1)^{2}+10} \end{cases} = \begin{cases} \frac{dx}{(x-1)^{2}+10} \\ \frac{dx}{dx-10} \\ \frac{dx}{dx-10} \end{cases} = \begin{cases} \frac{dx}{(x-1)^{2}+10} \\ \frac{dx}{dx-10} \\ \frac{dx}{dx-10} \end{cases} = \begin{cases} \frac{dx}{(x-1)^{2}+10} \\ \frac{dx}{dx-10} \\ \frac{dx}{dx-10} \\ \frac{dx}{dx-10} \end{cases} = \begin{cases} \frac{dx}{(x-1)^{2}+10} \\ \frac{dx}{dx-10} \\$$

2) 
$$\frac{dx}{x^{2}+6x+20} = \int \frac{dx}{(x+3)^{2}+11}$$

$$\frac{x^{2}+6x+9}{(x+3)^{2}+11} = \int \frac{dx}{(x+3)^{2}+11}$$

$$\frac{x^{2}+6x+9}{(x+3)^{2}+11} = \int \frac{dx}{(x+3)^{2}+11}$$

$$\frac{1}{111} = \int \frac{dx}{(x+3)^{2}+11}$$

$$\frac{1}{111} = \int \frac{dx}{(x+3)^{2}+11}$$

3.) 
$$\frac{dx}{\sqrt{8x-x^2}} = \begin{cases} \frac{dx}{\sqrt{16-(x-4)^2}} & p.387 \\ 39,43,44 \\ 71,73 \end{cases}$$
$$-(x^2-8x+16)+16 \qquad u=x-4 \\ du=1dx \\ -(x-4)+16 \qquad arcsin \frac{x-4}{4}+C$$